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QUESTION 1

A customer wants to run a two node HP Service guard cluster on nodes "node 1" and "node 2". The HP Serviceguard
cluster nodes are Integrity VM VSPs. HP Service guard toolkit for Integrity Virtual Servers (SG-1VS) is installed on both
nodes VM guests "VMGuest 1" and VMGuest2" are configured as cluster packages"pkgl" and "pkg2".

During a maintenance window, the administrator needs to failover both cluster packages, "pkg 1" and "pkg 2", from
"node 1"to "node 2".

Which statements are correct? (Select two.)

A. Use hpvmmigrate to failover "pkg 2".

B. "VMmGuest 1" and VMGuest 2" must be rebooted during the failover of "pkg 1" and "pkg 2".
C. HP Service guard does not monitor the VM guest during the online migration process.

D. Use cmmovevpkg to failover "pkg 1" and pkg 2".

E. Use hpvmsg_ move to failover "pkg 1" and "pkg 2".

Correct Answer: AD

QUESTION 2

Which statements describe the functionality of Process Resource Manager (PRM)? (Select two.)
A. PRM allocates CPU, I/0. and Network resources.

B. PRM increases application uptime.

C. PRM allows resource allocation based on defined rules.

D. PRM migrates CPUs across vPars

E. PRM uses its own process scheduler

Correct Answer: BD

QUESTION 3

The HP-UX 11i v3 mass storage stack has different load balancing policies available.
Which policy is the default?

A. preferred_path

B. closest _ path
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C. least_cmd_load
D. round robin

Correct Answer: D

QUESTION 4

What is the maximum number of nPars that can be configured on a fully populted Superdome 2 (SD2- 16s)?
A.2

B. 4

C.8

D. 16

Correct Answer: D

QUESTION 5

A system administrator needs to add a LAN interface to the running Integrity VM v6.2 guest "vml". The administrator
runs the command:

fﬂ;}'mdify —PF vml -—-a network:aviolan::vswitch:localnet

Which action is necessary for the new interface to be usable?
A. Log into vm1 and run the command ioscan.

B. Restart the virtual switch local net

C. Restart vml

D. No action is needed

Correct Answer: B

HPO-P25 VCE Dumps HPO-P25 Practice Test HPO-P25 Study Guide

HPO0-P25 VCE Dumps | HP0-P25 Practice Test | HPO-P25 Study Guide 3/3


https://www.pass4itsure.com/hp0-p25.html
https://www.pass4itsure.com/hp0-p25.html
https://www.pass4itsure.com/hp0-p25.html
http://www.tcpdf.org
https://www.pass4itsure.com/hp0-p25.html
https://www.pass4itsure.com/hp0-p25.html
https://www.pass4itsure.com/hp0-p25.html

